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Lineární rovnice – závorky, bez zlomků – 

řešení  

Úkol: Doplň tabulku. Řeš rovnice se závorkami. 

Varianta 1     Varianta 2 

ROVNICE ŘEŠENÍ ROVNICE ŘEŠENÍ 

5𝑥 − 2. (3 + 𝑥) = 3 𝒙 = 𝟑 5 − (6𝑥 + 5) = 18 𝒙 = −𝟑 

3. (𝑎 − 2) = 8. (𝑎 − 1) 𝒂 = 𝟎, 𝟒 6. (𝑎 − 5) = 1 − 3. (5 − 𝑎) 𝒂 =
𝟏𝟔

𝟑
 

8. (𝑏 − 5) − 5𝑏 = 35 𝒃 = 𝟐𝟓 8. (𝑏 + 0,5) = 44 𝒃 = 𝟓 

2. (𝑦 − 7) − 3 + 4𝑦 = 5 + 2𝑦 𝒚 = 𝟓, 𝟓 49 − 7𝑦 − 3. (5 + 𝑦) = 10 𝒚 = 𝟐, 𝟒 

3. 𝑎 + 5. (2𝑎 − 6) = 4. (1 − 𝑎) 𝒂 = 𝟐 64: 8 − 4. (𝑐 − 5) = 8 + 2𝑐 𝒄 =
𝟏𝟎

𝟑
 

𝑧. 6 − (𝑧 − 9) = 8. (3 − 5𝑧) 𝒛 =
𝟏

𝟑
 9. (𝑧 − 3) = −7. (1 + 3𝑧) 𝒛 =

𝟐

𝟑
 

11. (𝑥 − 1) − 6𝑥 = 5. (4 + 𝑥) 
Nemá 
řešení 

5 − (𝑥 + 7) = 1 + 2𝑥 − 3. (𝑥 + 2) 
Nemá 
řešení 

3. (9 − 𝑥) = 29 − 𝑥 − 2. (𝑥 + 1) 

Nekoneč-
ně 

mnoho 
řešení 

4. (𝑥 + 12) = 48 + 4𝑥 

Nekoneč-
ně 

mnoho 
řešení 
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